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1.) Find the equation of the parabola described.

a. Focus (0, -1); Directrix the line y = 1 o b. Vertex at (4, -2); Focus at (6, -2)
T 2
Equation: (‘A - 0\ o -l /\/ 6’93 -Equation: (\/ +2) T % (X - "'ﬂ
2. - 9 .
o= L{ y hori 'Z@J‘}.ﬂl ?-’x;;ﬂ\ ® b f’oi\fb . ) c‘slﬂft ey

. Ppeo

,_/Z by p=2 (pistance
=T 5 veqlex ¢

8 [Fe ¢ vagy

‘F

Y oty

Yol P =
\o-mrsﬂ bjc 3:‘#{)\'\

opens Down

-

Seapimy

PP B

2.) Rewrite the equation in the form y = a(x~ 4)> +% . Find the vertex, focus and directrix of the parabola.

Then graph the equat1on (x- 2) =4(y-3) T '
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3) Acal T“’I‘V”recei?mQ dish'ls in the shape of a paraboloid of revolution. Find the location of the receiver,

which is placed at the focus, if the dish is 6 feet across at its openirig and 2 feet deep. Show work!
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4.) Find an equation for an ellipse with foci at (0, % 2) and length of thezmajor axisis 8. 2.
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5.} Find the center, foci and vertices of the?elhpsg Th%n graph the elhpse x? +9y* +6x—-18y+9=0
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6 ) Find an equat1on f%{ an elhpse wztg center at (-3, 1),
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7.} Abridge is built in the shape of a parabolic arch. The bridge has a span of 60 feet and a maximum. height of

20 feet. Find the helght of the arch at distances of 5, 10, and 20 feet from the center Show work!
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=g 8) A br1dge 1s built in the shape of a semi- elhp’ucal arch The bridge has a span of 60 feet and a maximum
height of 20 feet. Find the height of the arch at d1stance\s of 5, 10, and 20 feet from the center. Show work!
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